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SOCIOLOGY

( Honours Core )
Paper : SOC-HC4016

Full Marks : 80
Time : 3 hours

Theﬁguresinthemargiriindzbateﬁdlmarks
Jor the questions

Answer either in English or in Assamese

1. Choose the correct option : 1x10=10
e Rew I :

(@) Which of the following is not clearly
indicated by caste?

TR (! WIS AIRT o8O 5N I R
qrR?
(i) Purity
Rz
(ii) Affinity
et
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(b)

(c)

24A/735

(2)

(iii) Status

&

(iv) f’eer groups
ST o

Indian villages were called as little
republics by _____.

SR SRR @ AE TR @
R |

(i) Charles Metcalfe
BIefE BT
(i) Henry Maine
& Gl
(iij) Karl Marx
3ref sk

(iv) Herbert Risley
i Refi

is a type of land revenue system in
British India.
—— R B SR 3 e o e
BICE
(i) Mahalwari
TR

( Continued )

| ——

(3)

(ii) Anganwadi
SRIIO!

(iii) Phulwari
FoRA

(iv) Kachori
FR

(d) The first systematic scholarly study of
the Jajmani system is done by

TENA IRYE AN s W SyRe
a3k ‘ :

(i R. K. Mukerjee
IR, F. T

(i) William H. Wiser
T %5, aiER

(iii) Gail Omvedt
C5I%E SACSH

(iv) Nicholas Dirks

__ is associated with the Tebhaga
Movement.

CoSIol STHIATR TS TS |

() Mamata Banerjee

o fenicl
24A/735 ( Turn Over )

(e)




(g)

24A/735

(4) ' |

(i) Jyoti Basu ;
ceaIfe 99 |
(iij) Charu Singh
5% PR

(iv) Bhowani Sen

=gl G

is not a feature of dominant caste.
YT SIS AD] (BT 7= |
(i) Numerical strength

- RIS |
(ii) Economic and political power ,

AT SIF AT Fqol

(iii) Land ownership
T WA

(iv) Professionalism

oIy

means three shares of harvest.
T *FIR 5N oo B |
(i) Telangana

COTERAMI

( Continued )

(h)

()

24A/735

(S)

(ii) Tebhaga
coolel

(iii) Bodo
cel

(iv) Assam
A

is the author of the book, Studies

in Agrarian Social Structure.

@ Studies in Agrarian Social

Structure =99 2¥I=T ERT |
(i) M. N. Srinivas
aF. . AR
(ii) Andre Beteille
HICH @
(iii) D. G. Mandelbaum
fe. f&. CTegesR™

{iv)] A. R. Desai
Q. IF. (PR

is considered to be a Marxist
sociologist.

_ 3 A iR e o 9 2
(i) D. P. Mukerji
f5. P @&
( Turn Over )



(6) (7))

(ii) G. S. Ghurye (b) Mention any two rural development

&. =, gRw programmes in India.

(iii) M. N. Srinivas oFed @ Il YO A SFE FEOHE AT
. . TR e 40

(iv) Louis Dumont (c) Mention any two agents of change in
2 D rural India.

() has divided peasants into Malik, SRS S e R ™ a5
Kisan and Mazdoor. 1 TCEY 40 i
IS e, R we sewE e (d) What is Community Development
IR | ) Programmes?

() K. L. Sharma R SR IR 6 2

= (e) Mention two land reforms in India.

(ii) Avijit Pathak
ST \ ] o1 S TFRET FUI TCE 4 |

(iii) Daniel Thorner 3. Write short notes on any four of the
cefcEet 2+ following : 5x4=20

(iv) Jan Breman o R @Ie BiRbR evige Bt B forat
G G

(a) Sanskritization
2. Answer any five from the following

questions : 2x5=10 TR
o PR {1 R I <AivhR Teq fa ' (b) Family in India
(@) Mention any two characteristics of SRES AT
caste.
R R @1 oy i) (c) Rural Development Programmes
215 T SR
24A/735 ( Continued )
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(8) o (9)

(d) Women Empowerment : (d) Do caste exist in contemporary India?
e FRAFI ' » Comment.
| ATRT SRES TR ¥y S ? &
fe) Rural Cooperatives %4 |
o (e) Elucidate on the changing agrarian
. Cast structure with reference to land reforms
() Caste A in India.
=it - o PR RS B IR Rafe IR
s Raca =8 331 | '
4. Answer any four from the. following () Has Green Revolution solved food crisis
questions : : 10%4=40 - ' in India? Comment.

WWW@@WWWN: Fvs Ru@ oRSS W QB T

FRE 7 T80 I

(a) Villages in India are isolated and .
self-sufficient little republics. Comment. el @

Peasant Movements in India is a way

(b)

(c)

24A/735

s SerEr Riten AE TR T AN |
&I 31 |

Discuss the role of Painchayati Raj in
developing rural India.

SRTd A TS AEHONET gk o
AT 4 |

Write an essay on S. C. Dube’s view on
India’s changing villages.

oRed RS NeHE ¢Re az. . wee
7B @o S ol I ot o

( Continued )

h)

24A—1000/735

to change the existing social order.
Comment.

THTS T UCHEN (XR TR (a5re)
A I W TR GF TR | T

Rural sociology in India is an outgrowth
of village studies. Comment.

TRAST AN TSRS A8 TEE OF T4 |
& ¥4 |

% % *

___———_
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SOCIOLOGY

( Honours Core )
Paper : SOC-HC-4026
( Urban Sociology in India )

Full Marks : 80
Time : 3 hours
Theﬁguresmthemargmmdzcateﬁdlmarks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
wo7e fieal eeRs Sed fn

(a) Who wrote the book, The City?
The City TNF M1 @FF @72

(b) Who is known as the father of urban
ecology?

TR AR o Prgact 1 w1 T 2

(0 What is urban?
J90 R 2
24A/736 ( Turn Over)



(@

(e)

(9)

()

()

0)

24A/736

(2)

State one characteristic of urban
society.

ol e i (AR Bra

Who wrote the essay, The Metropolis and
Mental Life?

The Metropolis and Mental Life ¥
TR CIRT (T ?

Who gave the concepts of Gemeinschaft
and Gesellschaft?

WWWWW
Wﬂ’wﬁﬁﬁ?

Who propounded the concepts of
mechanical and organic solidarity?

th&%wmmmam

What is Million City?

e 7o (b)) B2

Which is the first planned city in India?
SRS 49T ARFEHS TR @I 2

What is Immigration?

e 2

( Continued )

(3)

2. Answer the following questioﬁs :

T it e S o -  #S=10

(a) What is urban poverty? =
oI Wﬁm {ﬁm 54 =

() What is global city?
CIRE T WA 7

() What is urbanism?
oA e R 2

(d) What is urban polhition?
51 ovFe W R 2

() Mention any two ’schemes' for
eradication of urban poverty.

:

3. Write short notes on any four of the

following : . 5x4=20
@7 R R e nﬁﬁa @RS B izt ot
(a) City as leisure
SRR Bt
(b) Migration
' AT |
24A/736 ( Tum 6ver )



(4) g
el

(¢) Urban planning
: _ (c) Illustrate the trajectory of growth an
development of urban sociology in Indj 3
ia.
il OIRES A FEOGT B o9y ey |

(d) Challenges to urban governance in
India
. (d) Describe the causes of urbanization ;
1n

SEeq 79K *F IR A4 ORI :
| India.
SRES T TP R Seemm=y 7 |

(e) Ecological perspective ‘
(€) What is slum? Write a note on the

Rt iR
growth : :
() Gemeinschaft and Gesellschaft . ghslumsin indias 2+8=10
. il W <Ry 3o & T2 Smes Ay
- q
SRS = (LD -~ | | R

0 Elucidate the relationship between

gender and space.

4. Answer any four of the following questions :
10x4=40 e .
| Vo I 7R WS TRER REcw

oo gl 2 R e vifkera e fir : @

(a) Define urban sociology. Discuss the
nature and scope of urban sociology.

(9) E.lucidate the impact of globalization on
cities in India.

2+8=10
©eq
R L T e m\g‘ TRFRYRI SIS RIS Foicaf
ﬁ?ﬁ I AP R feran 1
(h) Discuss the network perspective in

city. What are the major understanding city.

(b) Define
challenges faced by cities in India? 2+8=10 SIOY T F=ofcF J@e Goad
SrRd TR T | S IR R g e Sreame w4 | fsm
2@ o 2R 6 2
L& &1
( Continued ) 24A—1000/
736
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SOCIOLOGY

( Honours Core )

Paper : SOC-HC-4036

( Sociology of Family, Marriage and Kinship )
Full Marks : 80
- Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
ware AR PRt e fa

(a) The term ‘elementary structures’ was
specialized by

‘e 19" e RoRg SeReERe

(i L. H. Morgan
7. %, Yo

() Meyer Fortes
AR TR

24A/737 ( Turn Over )




(b)

24A /737

(2)

(iij) Levi Strauss
(ISR

(iv) Louis Dumont

R T

( Choose the correct answer )

(% Teac! MM e )

Kin relations which are traced through
the mother’s line are

Toq (@XM SRECS SFpER FA SR T
e

(i Matrilateral
cafleercoese

(ii) Matrilineal
e

(iij) Matriarchal
pIcey:

(iv) Matrilocal
cficecet

( Choose the correct answer )

( o= e A1fd S )

( Continued )

24A/737

(3)

(c) A person related by marriage is called

3Ry a1 TS e PR =
(i) affinal
Qe
(i) consanguineal
FACHRERCTE
(i) agnate

GsICD

(iv} cognate
TSR

( Choose the correct answer )

(o= Teach! A Tfrer )

(d) Give one feature of a patrilocal family.
Proeam «ifames «br cafEs |

(e) What is Polyandry?
Afert &2

() What is the family of procreation?
e o frar e 2

( Turn Over )



(b)

24A/737

(2)

(iii) Levi Strauss
@ife Bty

(iv) Louis Dumont

R T

( Choose the correct answer )

( wm Teach! o Sferear )

Kin relations which are traced through
the mother’s line are

PR @A GRACS SPTEE P AR TE
B

(i) Matrilateral
RlieTan]

(i) Matrilineal
et

(iiij) Matriarchal
Toeq

(iv) Matrilocal
TPt

( Choose the correct answer )

(o= Teach! 1 e )

( Continued )
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(3]

(c) A person related by marriage is called

R{ag [l TR e =

(i) affinal
e

(i) consanguineal
FACHRERAEA

(i) agnate
GsICD

fiv) cognate
TR

( Choose the correct answer )

(o= Teweo! A Tferear )

(d) Give one feature of a patrilocal family.
Pregiam faeR @b cafies f

(e) What is Polyandry?
siferniy 5 ?

() What is the family of procreation?
i o T R 2

( Turn Over )



2.

24A/737

(4)

(@@ What is bridegroom price?
&N 2

(h) Define the term ‘parallel cousins’.
STIEAE =P *RCON el e |

() Give one example of a joking relation’.

g TR b TR

() What is Neolocal residence?
S rEs R )

Answer the following quéstions : 2x5=10

Wﬁﬂlmmﬁﬂl:

(aq) What is sororate?

IR R

(b) Define the term ‘descent’.
e *RTOR I e |

(¢ What do you mean by lineage?
70 o B o RoilRer 2

( Continued )

3.

24A/737

(5)
(d) Define incest.
SIERY IR ol |

() What is a clan?
IR

Write short notes on (any four :

5y o ot (R creem wilRY) -

Sx4=20

(@) Family and household
AR HF TN W

(b) Kinship
S

(¢ Endogamy and Exogamy
R e ARRIAIZ

(d) Rules of residence
PR

(e) Purity and Pollution
RoTel we o@d

() Problems of Joint System
A JTER ST
( Turn Over )



(6)

4. Answer any four from the following
questions : 10x4=40
weTo 1 2T o[ R e wikeR Seq fy

(a)

(b)

(©

(@

24A/737

Discuss the kinship structure and
marriage rituals among the Nair’s of
Kerala. 10

(FER TR oo SRSl 95w e

. RS S-SR R SIcems= 4 |

Write a note on the new reproductive
technologies. What changes are they

bringing about in the society? 5+5=10
T AT AT SRS GOl GBIl o |
SEEIE TES & ARad S ?

Define the term ‘marriage’. Discuss the
different challenges associated with

marriage in the Indian social context.
2+8=10

‘R’ o[ Wl fin | eRem NI
crerebe R o5 wive R[fen dor=Fe
R e F41 |

What is transactional marriage? Use
examples to elaborate your answer. 10

e Rz &2 o Seac Rrmer
3'30e SnRae I9RT 90 1

( Continued )

(

7))

fe) Define the term ‘divorce’. Discuss the
causes of increasing divorce rate in
India in the last few years. 2+8=10
BRIEY Rico=n” WO TR\ T @M
@R o[ oRee AR Row| 2 I

(ORI FRPTIRT [RE Scee=l 1 |

() Critically discuss marriage as a
sacrament and contract. 10
R oy 9R e R
SCEABIRSIC] SICeoal F41 |

(g) Discuss the reasons behind changing
family structure in India. 10
sRee AREEE AR EER AR SRS
FHREPTE, SCeo 4 |

(h) Discuss the different functions of
family. 10
sfiRarer RfSn Frfa Rea Scer <01

24A—1000/737
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